

# Resting ECG Electrodes

With a variety of shapes, sizes, types, gels, and materials, ConMed has a resting ECG electrode for every monitoring application. We're one company with one goal – to satisfy the customer in the most cost effective method possible.













PEDIATRIC ECG ELECTRODES



To learn more about these and other innovative products, call **800-448-6506** or visit **ConMed.com**.





### Fastrace® 4

1915-100

Gel 2000 formulation sticks better and stays moist longer - even when the pouch has been opened.

- Silver/silver chloride design provides stable baselines and excellent electrical characteristics
- Conductive adhesive gel maintains contact with skin, even on hairy areas
- PVC free
- 24 month shelf life

### V-Trace®

1935-100



Gel 2000 formulation sticks better and stays moist longer – even when the pouch has been opened.

- Silver/silver chloride design provides stable baselines and excellent electrical characteristics
- Conductive adhesive gel maintains contact with skin, even on hairy areas
- PVC free
- 24 month shelf life

#### **HeartBeat**

1925-100



Gel 2000MP formulation provides improved staying power, but gentle release.

- Smaller design is ideal for adults and pediatrics
- Silver/silver chloride design provides stable baselines and excellent electrical characteristics
- Pliable material is more comfortable and prevents lift off
- PVC free
- 24 month shelf life



## Snaptrace®

1920-050



The small circular design is ideal for adults and pediatrics, and offers easy placement for V-leads.

- Silver/silver chloride design provides stable baselines and excellent electrical characteristics
- Wet gel formulation for quick signal acquisition
- Radiolucent and MR safe
- PVC free
- 24 month shelf life



# Snaptrace® II

1921-100

The smaller design is ideal for adults and pediatrics, and offers easy placement for V-leads.

- Silver/silver chloride design provides stable baselines and excellent electrical characteristics
- Solid adhesive hydrogel provides staying power but gentle release
- Radiolucent and MR safe
- PVC free
- 24 month shelf life





**UNIVERSAL ADAPTER** 





Ref. No.	Descript	Description		s/Pouch	Pouches/Case	Electrodes/Case
Tab Style El	ectrodes					
1915-100	Fastrace® 4		100		10	1,000
1935-100	V-Trace®		100		40	4,000
1925-100	Heartbeat		100		10	1,000
Snap Style I	Electrodes					
1920-050	Snaptrace®		50		20	1,000
1921-100	Snaptrace® II		100		10	1,000
Ref. No.	Fits Banana .156" (4.0mm)	Fits Pin .117" (3.0mm)	Fits Pin .125" (3.2mm)	Qty/Pkg	Description	
Tab Style El	ectrode Adapte	rs				
ACB				10	Alligator clip adapte	er en en
ACP				10	6" (15.2cm) long	
HPB-B	•	• • • • • • • • • • • • • • • • • • • •		10	Bidirectional clip adap	iter
HPP-B				10	6" (15.2cm) long	
IPH-Blue				10		
HPH-Red				10	One piece adapter	
Snap Style I	Electrode Adapt	ers			• • • • • • • • • • • • • • • • • • • •	
RLB-10				10	Grabber adapters	
RLP-10				10	6" (15.2cm) long	all the
SNB	•			10	• • • • • • • • • • • • • • • • • • • •	
SNF				10	Snap adapters	
SNP				10	6" (15.2cm) long	A SI PROPERTY.
	dapters for Tab	or Snan St	vie Flectro			
	amptoro for full	or oriap of	, =:001:00			

Customer Service: 1-800-448-6506 ConMed.com International Sales: 1-315-797-8375 info@mail.conmed.com

Fax: 1-800-438-3051